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Select the statement that is the negation of the statement
"I am not hungry and I am thirsty."

A. I am hungry and I am not thirsty.

B If I am not hungry, then I am thirsty.

C. 1If I am hungry, then I am thirsty.

D I am hungry or I am not thirsty.

Select the statement below that is logically equivalent to

"It is not true that Jim is playing golf or Mary is playing
tennis. "

Jim is not playing golf and Mary is not playing tennis.

Jim is not playing golf or Mary is not playing tennis.

Jim is playing golf and Mary is not playing tennis.

If Jim is not playing golf, then Mary is not playing tennis.
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Select the statement below that is logically equivalent to
"If Jones is in Los Angeles, then he is in Calif.”

If Jones is in Calif, then he is in Los Angeles.

If Jones is not in Los Angeles, then he is not in Calif.
If Jones is not in Calif, then he is not in Los Angeles.
Jones is in Los Angeles, or he is in Calif.
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Select the conclusion that will make the following argument valid.
"If I pass the CLAST, then I will get my AA degree. If I get
my AA degree, then I will attend the university."

A, If I do not pass the CLAST, then I will not attend the

university.

B. If I pass the CLAST, then I will not attend the university.
C. If I get my AA degree, then I pass the CLAST.

D If I pass the CLAST, then I will attend the university.

Select the rule of logical equivalence that directly (in one step)
transforms statement "i" into statement "ii."

i. If x? is even, then x is even.
ii. If x is not even, then x? is not even.
A, "Not (p and Q)" is equivalent to "(not p) or (not q).
B. "If p, then gq" is equivalent to "(not p) or g."
c. Correct equivalence rule is not given.
D. "If p, then g" is equivalent to "if not gq, then not p."
Study the information given below. If a logical conclusion 1is

given, select that conclusion.

"If I pass this test, then I will graduate. I pass this test or
I get a job. I did not get a job."

I did not graduate.

I did graduate.

I did not pass this test.

None of the above is warranted.
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